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Locate the ventroid of the T-section shown in the Fig
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All dimensions in mm
Solution

Selecting the axis as shown in Fig., we can say due to symmetry centroid lies on y axis, fe
X =0. Now the given T-section may be divided into two rectangles 41 and A2 each of size

100 = 20 and 20 = 100.
The distance of centroad from top 15 given by:
1K) ¢ 20 5 10 4+ 20 = 100 = 70

T l00%20420%100

= 40 mm
Hence, eentroid of T-section is on the symmetric axis al a distance 40 mm from the top.
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Tk prven compmis figure con e donidal min men seciangles
Apw 150 % 12 = ES00 s’
Ay =30 — 13 12 = 2250 nam”
Total ancd A=A + A, = 0% mm’
Selecting the reference axm 1 amid ¥ a8 shown m
Fg The comirosd of A b gy (T, B and ghat ol A, is;
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This. the crmirndd B al ¥ = 8,62 mm and 7 = #1462 mmi e shown in ibe Ggrs,

= AT mm
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